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MT- 70
B.Sc. IV Semester (CS) Examination 2015
| OPERATING SYSTEM

Time Allowed : Three Hours
Maximum Marks : 85
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Note : All questions are compulsory.
onlinebu.com
Tog - ‘31" 1 Section - A

FFW@ W / Objective Type Questions

Q1. g e gAT
Choose the correct answer: 3x5=15
) fw vor & ofRfET Red 7 Response time
g8 crucial RIS

(31) ek siRfET Ren
) Raer ey afRfeT Rvew
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(2)

in whibﬁitypé bf__f-the:following operating system the

response time is very crucial;

(a) Network operating system
(b) Real Time operating system
(¢) Batch operating system

(d). Unix operating system

TR Ryced W91 Gl 2

(r) Her

(@) W

() e/ e e

(z) Ul ¥ A W

- Operating System manages:

(@) Memory (b) Processor

(c) /O device (d) Allof the above
?\f)emﬁﬁrﬁ %:m NN ofilinebu;com

(7) gardteraelt @mof Wepvstt AERT

(@) aifer FRIQF ST ATSt 3T AHG

(7) sifer gegQ T TSl ABUSK WA
Virtual Memory is:

(a) Extremely large main memory

(b) Extremely large secondary memory

(€) Allillusion of large main memory
(d) Allillusion of large secondary memory
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V) Wﬁ%’qﬁsuzeﬁﬁ“ﬂ%{ﬁw& @.3. e aur @i ARy dgefe seiRen & wea fer
PEd & ' | wse HIfrg o ereRor i)
( ) gor 4 (EI) e . o : Differ_entiatg between primitive and Non-primitive scheduling
(‘H) N (3) Seiveder algorithm with example.
. ¥ . ‘
Divide logical mémory into blocks with the same size dan [ OR '
f called:
_?:) re:)nawge;sare a o i © MLQ =R algorithm & wigY 3§ SergRer wifge forfay
(c) Pagetable (d) Segmentation Write about MLQ Scheduling Algorithm with example.
v) B ol A srerdeea uiferit ok @ -
AR 3T ST hole generate Tl &: Q4. WA FIAIFRFT BY SRRV Wik W
Ea; Bast - Fit g Eq)) ;V;;S;";; st Explain the memory compaction with example.
H) First - Fit ; = : .
Which memory-allocation policy allocate the Iargest a4 [ OR fﬁ
hole {0 the progess: | AT Y wEradT [ agfared AR @Y B implement fasar
(a) Best - Fit (b) ‘Worst - Fit %72. k. GRY, wIE '
(c) First - Fit (d)” None of these el & ¢ T Ao
‘ , . " How virtual memory implemented using paging? Explain with
@ve - “q’ | Section - B onlinebu.com . suitable diagram..
Y T N7/ Short Answer Type Questions :
5x5=25 @.5. FCFS disk scheduling & Wes § forRyy)
0 . ot R 35 2o St | * Write about FCFS disk-scheduling also. ]f\
. /. IEI‘ @ Z ‘ ¢ . :
Write the function of Operating System. : 3tydar /| OR

i

#{4ar /| OR
Real time system W 319 &RIT WA & ? ITEROT GHOTQ)

What do you- mean by real time system? Give some examples?

Directory 35 Structure COREE 35 A A IS

Explain the structure of durectory with duagram
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@6. Authentication T & ? IGTERVT AR WY
. o K _ ﬁﬂﬁv‘fﬁﬁ MR Priority AT ¥€feRT Burst time ¥ ferg
What is Authentication? Give some examples ofit. .
2 Average waiting time & Average turn around time I HIRTT
@ [ OR P, (Priority Scheduling Algorithm)
m%ﬁﬁ‘m QTS & GATH condition &FT & ? ARV
Find the average waiting time and average turn-around time
What are necessary and sufficient condition for deadlock? for the following processes and their CPU Burst time for
Explain. priority Scheduling Algorithm, ,
onlinebu.com | )
- “q’ | Section - C Process  CPU Bursttime Priority [/
- & gl 999/ Long Answer Type Questions P1 10 | 3
9x5=45 P2 1 1
@.7. arfeT Ren @ RaRd Sor & avg ol avar g P3 2 3
kA , P4 1 4
Operating system act as a Resource manager. Explain.
9 | OR PS 5 o2
Client - Server processing § Operating System &V "Lfﬁ'a'ﬂ,:} @.0. R e &2 OfdmT 3 g sraey® BEITR @Y B wifd
W WHHTY AT '
Explain the role of operating system in Client-S
pro%essing. ' perating-Sy nimmerver What is paging? Explain the concept for Hardware support
to implement paging scheme with suitable diagram.
'Q.8. CPU Scheduling § Wt W& & Schedulers @ yffiest 1 gl | OR "\ “
oy wfga wasmey
Explain the role of all types of schedulers in CPU schedullng mﬂ SR B page replacement algorithm & ar ¥ ferfd
with suitable diagram. . ‘
) Write about all the page replacement algorithm with suitable
drgar [ QR examples. '
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Q.10. AT e T3 arehiver B 1 R WRA g
e

Compare the chaining and indexing allocation scheme with
suitable diagram. '
v ) { )

@A | OR 2
e TekW SIS Y I Y SaTeRvI ke WHESy)

Explain the process of disk address translation with example.

@. 1. EeTNAW synchronization Y STGLIHAT DY IGTaERVT Aigd
AT

What is the need for interprocess synchronizatioh? Explain
with example. ‘

oA | OR : ' B

TP FT &7 AP B avoid PR & forg Banker's )
algorithm feraYi

What is deadlock? Write the banker's algorithm to avoid
deadlock.
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